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1. [50 points]

Folxl Aol dhall 7+ gL F, ARE Fstar 1 ooffol dis Ageial 2.

(1) [10 points]

HedyEd wRgke] w2 0 Ex 1 olth

(2) [10 points]

e q =[1,21],a, = [1,3,4],a5 = [2,—1,1]°] D3 S = [a,,a, a3]E R39) 7]A S o] 2t}
(3) [10 points]

QAo AAMe AL 22 71AEHE T (price elasticity of demand) & &3},

y

(4) [10 points]
FF7F x =004 A5 A x =094 vIEI S
(5) [10 points]

S f(xy, %) = x2 4+ (x, — 1)%25 AERA |2x,] +12x,] <1 3FoAlA H =3k %% =3

2. [20 points]
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[y'(t)] = [4 3] [y(t)] + [ 1 ] with [y(O) = [3]
(1) [10 points] A5+ 4 (coefficient matrix) ] LRI LHFHEHE F-3FA] 2
(2) [10 points] & A wZ G2 &l x(t),y@®)E ot ol=2] FH kel sl Zepr .

3. [30 points]
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(2) [15 points] &= y* (0, ty, t P P2)E =F
(3) [5 points] 2] #55 @l w o) 2] ol el tfa) AeiAls.
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1. [SOpts] (10 pts each)

Let X,Y have the joint pmf

_ C
fen =0

(@) Determine the constant C

(b) Find the marginal pmf of Y.
(c) Find the conditional pmfof X given Y = y.
(d) Find the marginal pmf of X using the above results.

(e) Compute the joint mgfof X and Y.
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2. [50pts] (10 pts each)
CtEar &2 the 203 290l AL
Yi=a+[?Xl-+6i ) Ei~iidN(0,O'2)

v= el Oiof 7tA($1,000 £Hel), X;= EOl(square feet ThHel)0IH, 207H2| B=X[E O|&5t0] Tt

z Y, = 10000 Z(Yi —¥)2 = 200000 Z(XL- - X)(Y; — ¥) = 600000
i i i
in = 45000 Z(Xi — X)2 = 4500000
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@ Y, =a+pX;+e 2 MMM ot po| X2AS FYX|E Folat xais FEA QA
pZt & 27|t ohoj 7+A Atole| EAO|M RAES 2O0|St=7}?

(b) R*?S Attot, Rr? 0| FAS 2|0|ot=A| 2F5tet

(0 2Hef BHE &s ZEoHA §4, (v, -V)E X, — X0 Chol =7 O, SAEZAS 018
St 7127 A+l HEXSFEXE oozt

d) BEIS ZoHK| @A, ;& X, -X)0f Cis 2ottty He M, YALYAS 0[8st
ol 7127 A2 HaXSFERE Fotolt

S ZYOHA| &4, (v, -V)E X0 tel 2ottt S o
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